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परीक्षार्थी प्रश् न-पत्र कोड को उत्तर-पसु्तिका के 

मखु-पषृ्ठ पर अवश्य स्िखें ।  
Candidates must write the Q.P. Code 
on the title page of the answer-book. 
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CHEMISTRY (Theory) 

निर्धारित समय : 3 घण्टे   अनर्कतम अंक : 70 
Time allowed : 3 hours  Maximum Marks : 70  

(I) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में मसु्िि पषृ्ठ 23 हैं ।  
 Please check that this question paper contains 23 printed pages. 

(II) प्रश् न-पत्र में दास्हन ेहार्थ की ओर स्दए गए प्रश् न-पत्र कोड को परीक्षार्थी उत्तर-पसु्तिका के मखु-पषृ्ठ पर 

स्िखें । 

 Q.P. Code given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

(III) कृपया जााँच कर िें स्क इस प्रश् न-पत्र में 33 प्रश् न हैं । 
 Please check that this question paper contains 33 questions. 

(IV) कृपया प्रश् न का उत्तर ललखना शुरू करने से पहले, उत्तर-पुलतिका में यथा तथान पर प्रश् न का 

क्रमांक अवश्य ललखें । 

 Please write down the Serial Number of the question in the  

answer-book at the given place before attempting it. 

(V) इस प्रश् न-पत्र को पढ़ने के स्िए 15 स्मनट का समय स्दया गया ह ै । प्रश् न-पत्र का स्विरण पवूााह्न में  

10.15 बजे स्कया जाएगा । 10.15 बजे स े10.30 बजे िक परीक्षार्थी केवि प्रश् न-पत्र को पढ़ेंग ेऔर 

इस अवस्ि के दौरान वे उत्तर-पसु्तिका पर कोई उत्तर नहीं स्िखेंगे । 
 15 minute time has been allotted to read this question paper. The 

question  paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the candidates will read the question paper only and will not 
write any answer on the answer-book during this period.   
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सामान्य निर्देश : 

निम्िनिनित निर्देशों को ध्यधिपरू्ाक पऩिए औि उिकध पधिि कीनिए : 

(i) इस प्रश् ि-पत्र में 33 प्रश् ि ह ै। सभी प्रश् ि अनिवायय हैं । 
(ii) यह प्रश् ि-पत्र पााँच िण्डों में नर्भधनित ह ै– खण्ड क, ख, ग, घ, एरं् ङ ।   
(iii) खण्ड क – प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 1 अंक कध ह ै।  
(iv) खण्ड ख – प्रश् ि संख्यध 17 से 21 तक अनत िघ-ुउत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 2 अंकों कध ह ै। 
(v) खण्ड ग – प्रश् ि संख्यध 22 से 28 तक िघु-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 3 अंकों कध ह ै। 
(vi) खण्ड घ – प्रश् ि संख्यध 29 तथध 30 केस-आर्धरित प्रश् ि हैं । प्रत्येक प्रश् ि 4 अंकों कध ह ै। 
(vii) खण्ड ङ – प्रश् ि संख्यध 31 से 33 र्दीघा-उत्तिीय प्रकधि के प्रश् ि हैं । प्रत्येक प्रश् ि 5 अंकों कध ह ै। 
(viii) प्रश् ि-पत्र में समग्र नर्कल्प िहीं नर्दयध गयध ह ै। यद्यनप, िण्ड क के अनतरिक्त अन्य सभी िण्डों के कुछ प्रश् िों में 

आंतरिक नर्कल्प कध चयि नर्दयध गयध ह ै।  
(ix) ध्यधि र्दें नक दृनिबधनर्त पिीक्षधनथायों के निए अिग प्रश् ि-पत्र ह ै।  
(x) कैल्कुिेटि कध उपयोग वनजयत ह ै।  

खण्ड क 

प्रश् ि संख्यध 1 से 16 तक बहुनर्कल्पीय प्रकधि के 1 अंक के प्रश् ि हैं । 161=16 

1. उत्प्प्रेरक पररवस्िाि करिे हैं :   

(A) साम्यावतर्था स्तर्थराांक 

(B) अस्िस्िया की एन्र्थैल्पी 

(C) अस्िस्िया की स्गब्ज़ ऊजाा 

(D) अस्िस्िया की सस्ियण ऊजाा 

2. स्नम्नस्िस्खि अणओु ां में से स्कसकी प्रकृस्ि स्करेि ह ै?  

(A) 1-क्िोरोप्रोपेन  (B) 2-क्िोरोप्रोपेन 

(C) 1-क्िोरोब्जयटेून  (D) 2-क्िोरोब्जयटेून 

3. CH3CH2OH को CH3CHO में पररवस्िाि स्कया जा सकिा ह ै:   

(A) उत्प्प्रेरकीय हाइड्रोजनन द्वारा  

(B) LiAlH4 के सार्थ अस्िस्िस्यि करके  

(C) PCC के सार्थ अस्िस्िस्यि करके  

(D) KMnO4 के सार्थ अस्िस्िस्यि करके  
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General Instructions : 

Read the following instructions carefully and follow them : 

(i) This question paper contains 33 questions. All questions are compulsory.  

(ii) This question paper is divided into five sections – Section A, B, C, D and E.  

(iii) Section A – questions number 1 to 16 are multiple choice type questions. Each 
question carries 1 mark.  

(iv) Section B – questions number 17 to 21 are very short answer type questions. 
Each question carries 2 marks.  

(v) Section C – questions number 22 to 28 are short answer type questions. Each 
question carries 3 marks. 

(vi) Section D – questions number 29 and 30 are case-based questions. Each 
question carries 4 marks.  

(vii) Section E – questions number 31 to 33 are long answer type questions. Each 
question carries 5 marks.  

(viii) There is no overall choice given in the question paper. However, an internal 
choice has been provided in few questions in all the sections except Section A.  

(ix) Kindly note that there is a separate question paper for Visually Impaired 
candidates. 

(x) Use of calculator is not allowed. 

SECTION A 

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark  

each.   161=16 

1. The role of a catalyst is to change :   

(A) equilibrium constant  

(B) enthalpy of reaction  

(C) Gibbs energy of reaction   

(D) activation energy of reaction  

2. Which of the following molecules is chiral in nature ?  

(A) 1-chloropropane  (B) 2-chloropropane  

(C) 1-chlorobutane  (D) 2-chlorobutane   

3. CH3CH2OH can be converted to CH3CHO by :  

(A) catalytic hydrogenation 

(B) treatment with LiAlH4   

(C) treatment with PCC  

(D) treatment with KMnO4  
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4. CH3 – CH2 – N(CH3) – CH2 – CH2 – CH3 का IUPAC नाम ह ै:  

(A) N-मेस्र्थिपेन्टेन-2-ऐमीन 

(B) N-एस्र्थि-N-मेस्र्थिप्रोपेन-1-ऐमीन 

(C) N,N-डाइएस्र्थिप्रोपेन-1-ऐमीन 

(D) N,N-डाइमेस्र्थिप्रोपेन-1-ऐमीन 

5. अस्िकारक की साांििा [R] और समय ‘t’ के मध्य आिेख नीचे दर्ााया गया ह ै। यह आिेख दी गई 

अस्िस्िया की कोस्ट में से स्कसको इांस्गि करिा ह ै?  

  
 

(A) ििृीय कोस्ट  (B) स्द्विीय कोस्ट 

(C) प्रर्थम कोस्ट (D) र्नू्य कोस्ट 

6. एस्र्थि ब्रोमाइड, ऐल्कोहॉिी स्सल्वर नाइट्राइट के सार्थ अस्िस्िया करके दिेा ह ै:  

(A) एस्र्थि नाइट्राइट  (B) नाइट्रोएर्थेन  

(C) नाइट्रोमेर्थेन  (D) एर्थीन  

7. स्नम्नस्िस्खि जिीय स्वियनों में से स्कसका स्हमाांक उच्चिम होगा ?  

(A) 1·0 M KCl  

(B) 1·0 M Na2SO4 

(C) 1·0 M ग्िकूोस    

(D) 1·0 M AlCl3  
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4. The IUPAC name for CH3 – CH2 – N(CH3) – CH2 – CH2 – CH3 is :  

(A) N-methylpentan-2-amine  

(B) N-ethyl-N-methylpropan-1-amine 

(C) N,N-diethylpropan-1-amine 

(D) N,N-dimethylpropan-1-amine  

5. A plot between concentration of reactant [R] and time ‘t’ is shown below. 

Which of the given order of reaction is indicated by the graph ?  

  

(A) Third order  (B) Second order  

(C) First order (D) Zero order  

6. The treatment of ethyl bromide with alcoholic silver nitrite gives :  

(A) ethyl nitrite  (B) nitroethane  

(C) nitromethane  (D) ethene  

7. Which of the following aqueous solutions will have the highest freezing 

point ?  

(A) 1·0 M KCl 

(B) 1·0 M Na2SO4 

(C) 1·0 M Glucose  

(D) 1·0 M AlCl3  
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8. स्नम्नस्िस्खि में से कौन-सा ऐस्ल्डहाइड कैस्ऩारो अस्िस्िया दगेा ?  

(A) CH3 – CH – CHO 

            | 

            CH3 

(B) (CH3)3C CHO 

(C) CH3 – CH2 – CHO 

(D) CH3 – CH – CH – CHO 
            |        | 

            CH3   CH3 

9. स्नम्नस्िस्खि समहूों में से स्कसके दोनों आयन जिीय स्वियन में रांगीन हैं ?  

I.    Cu+  II.    Ti4+ III.    Co2+ IV.    Fe2+   

[परमाण ुिमाांक : Cu = 29,  Ti = 22,  Co = 27,  Fe = 26] 

(A) I और II (B) II और III 

(C) III और IV (D) I और IV  

10. CH3CH2CHO और CH3CH2COOH के मध्य स्कसके द्वारा स्विेद स्कया जा सकिा ह ै?   

(A) सोस्डयम बाइकाबोनेट परीक्षण   
(B) स्हन्सबगा परीक्षण 
(C) आयोडोफॉमा परीक्षण 
(D) ल्यकूास परीक्षण  

11. तिांि I में स्दए गए सेि के प्रकार को तिांि II में स्दए गए उनके उपयोग से स्मिान कीस्जए :  

 स्तंभ I  स्तंभ II 

i. िेड सांचायक सेि  a. दीवार घडी  

ii. मक्यूारी सेि  b. अपोिो अांिररक्ष कायािम  

iii. र्षु्क सेि  c. किाई घडी  

iv. ई ांिन सेि  d. इनवटार  

(A) i-a,  ii-b,  iii-c,  iv-d (B) i-d,  ii-c,  iii-a,  iv-b 

(C) i-c,  ii-d,  iii-b,  iv-a (D) i-b,  ii-a,  iii-d,  iv-c 
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8. Which of the following aldehydes will undergo Cannizzaro reaction ?  

(A) CH3 – CH – CHO 
            | 

            CH3 

(B) (CH3)3C CHO 

(C) CH3 – CH2 – CHO 

(D) CH3 – CH – CH – CHO 

            |        | 

            CH3   CH3 

9. In which of the following groups are both ions coloured in aqueous 

solution ?  

I.    Cu+  II.    Ti4+ III.    Co2+ IV.    Fe2+   

[Atomic number : Cu = 29,   Ti = 22,   Co = 27,   Fe = 26] 

(A) I and II (B) II and III 

(C) III and IV (D) I and IV  

10. CH3CH2CHO and CH3CH2COOH can be distinguished by : 

(A) Sodium bicarbonate test  

(B) Hinsberg test  

(C) Iodoform test 

(D) Lucas test  

11. Match the type of cell given in Column I with their use given in Column II. 

 Column I  Column II 

i. Lead storage cell  a. Wall clock 

ii. Mercury cell b. Apollo Space Programme  

iii. Dry cell c. Wrist watch  

iv. Fuel cell d. Inverter  

(A) i-a,  ii-b,  iii-c,  iv-d (B) i-d,  ii-c,  iii-a,  iv-b 

(C) i-c,  ii-d,  iii-b,  iv-a (D) i-b,  ii-a,  iii-d,  iv-c 
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12. रसायन प्रयोगर्ािा में गणुात्प्मक स्वशे्लषण करिे समय अस्िषेक ने एक परखनिी में पीिे रांग का 

पोटैस्र्यम िोमेट स्वियन डािा । वह यह दखेकर अचस्म्िि हो गया स्क स्वियन का रांग िरुांि नारांगी 

रांग में बदि गया । उसे यह अनिुसू्ि हुई स्क परखनिी साफ नहीं र्थी अस्पि ुउसमें स्कसी अन्य िव की 

कुछ बूाँदें र्थीं । स्नम्नस्िस्खि पदार्थों में से परखनिी में पोटैस्र्यम िोमेट स्वियन डािने से पहिे  

कौन-सा सवाास्िक सांिास्वि िव उपस्तर्थि र्था ?  

(A) सोस्डयम हाइड्रोजन काबोनेट स्वियन  

(B) मेस्र्थि ऑरेंज स्वियन  
(C) सोस्डयम हाइड्रॉक्साइड स्वियन  
(D) HCl स्वियन   

प्रश् ि संख्या 13 से 16 के निए, र्दो कथि नर्दए गए हैं — नजिमें एक को अनभकथि (A) तथा रू्दसरे को 

कारण (R) द्वारा अंनकत नकया गया है । इि प्रश् िों के सही उत्तर िीचे नर्दए गए कोडों (A), (B), (C) 

और (D) में से चुिकर र्दीनजए । 

(A) अस्िकर्थन (A) और कारण (R) दोनों सही हैं और कारण (R), अस्िकर्थन (A) की सही 

व्याख्या करिा ह ै। 

(B) अस्िकर्थन (A) और कारण (R) दोनों सही हैं, परन्ि ुकारण (R), अस्िकर्थन (A) की सही 

व्याख्या िहीं करिा ह ै। 
(C) अस्िकर्थन (A) सही ह,ै परन्ि ुकारण (R) ग़िि ह ै। 
(D) अस्िकर्थन (A) ग़िि ह,ै परन्ि ुकारण (R) सही ह ै। 

13. अनभकथि (A) : आयस्नक स्वियन के प्रस्िरोि को मापने के स्िए AC स्रोि का उपयोग स्कया जािा 

ह ै।   

 कधिण (R) : यस्द DC स्रोि का उपयोग स्कया जािा ह ैिो आयस्नक स्वियन की साांििा बदि 

जाएगी ।   

14. अनभकथि (A) : िाप में वसृ्ि के सार्थ हनेरी स्नयम स्तर्थराांक (KH) घटिा ह ै।  

 कधिण (R) : जैस-ेजैसे िाप बढ़िा ह,ै िवों में गैसों की स्विेयिा घटिी ह ै।  

15. अनभकथि (A) : जैस-ेजैसे ऐस्ल्कि समहू का आकार बढ़िा ह,ै ऐस्ल्डहाइडों और कीटोनों की जि में 

घिुनर्ीििा घटिी जािी ह ै।  

 कधिण (R) : ऐस्ल्डहाइडों और कीटोनों में स्द्वध्रवु-स्द्वध्रवु अन्योन्यस्ियाएाँ होिी हैं ।  

16. अनभकथि (A) : ऐस्ल्कि हैिाइडों के क्वर्थनाांकों के घटने का िम RI > RBr > RCl > RF ह ै।  

 कधिण (R) : वान्डरवाल्स बिों के आकषाण के घटने का िम RI > RBr > RCl > RF ह ै। 



   

56/5/1  # 9 # P.T.O. 

12. While doing qualitative analysis in chemistry lab, Abhishek added yellow 

coloured potassium chromate solution into a test tube. He was surprised 

to see the colour of the solution changing immediately to orange. He 

realised that the test tube was not clean and contained a few drops of 

some liquid. Which of the following substances will be the most likely 

liquid to be present in the test tube before adding potassium chromate 

solution ?  

(A) Sodium hydrogen carbonate solution 

(B) Methyl orange solution  

(C) Sodium hydroxide solution  

(D) HCl solution  

For Questions number 13 to 16, two statements are given — one labelled 

as Assertion (A) and the other labelled as Reason (R). Select the correct 

answer to these questions from the codes (A), (B), (C) and (D) as given 

below.  

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 

correct explanation of the Assertion (A).  

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not 

the correct explanation of the Assertion (A).  

(C) Assertion (A) is true, but Reason (R) is false.  

(D) Assertion (A) is false, but Reason (R) is true. 

13. Assertion (A) :  For measuring resistance of an ionic solution an AC 

source is used.   

Reason (R) : Concentration of ionic solution will change if DC source is 

used.    

14. Assertion (A) :  Henry’s law constant (KH) decreases with increase in 
temperature.  

Reason (R) : As the temperature increases, solubility of gases in 

liquids decreases.  

15. Assertion (A) :  The solubility of aldehydes and ketones in water 

decreases with increase in size of the alkyl group.  

Reason (R) : Aldehydes and ketones have dipole-dipole interaction.  

16. Assertion (A) :  The boiling points of alkyl halides decrease in the order 

RI > RBr > RCl > RF.  

Reason (R) : The van der Waals forces of attraction decrease in the 

order RI > RBr > RCl > RF. 
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खण्ड ख 

17. (क) CaCl2 (मोिर िव्यमान = 111 g mol–1) के 3 g को 260 g जि में घोिने पर बनने 

वािे स्वियन के क्वर्थनाांक का उन्नयन, यह मानिे हुए स्क CaCl2 पणूािया स्वयोस्जि हो गया 

ह,ै पररकस्िि कीस्जए । (जि के स्िए Kb = 0·52 K kg mol–1)  2 

 अथवा 

(ख) ‘X’ और ‘Y’ िव आदर्ा स्वियन बनािे हैं । र्िु ‘X’ और र्िु ‘Y’ के वाष्प दाब िमर्:  

120 mm Hg और 160 mm Hg हैं । ‘X’ और ‘Y’ के समान मोिों को स्मिाकर बनने 

वािे स्वियन का वाष्प दाब पररकस्िि कीस्जए । 2 

 

18. 
mol/L में KCl नर्ियि 

की सधंद्रतध  

S cm–1 में 298·15 K 

पि चधिकतध  

S cm2 mol–1 में 298·15 K 

पि मोिि चधिकतध 

 
1·000 0·1113 111·3 

 
0·100 0·0129 129·0 

 
0·010 0·00141 141·0 

 ऊपर स्दए गए आाँकडों के आिार पर, साांििा के सार्थ चािकिा और मोिर चािकिा में पररविान के 

स्िए सांिास्वि कारण दीस्जए ।  2 

19. (क) अस्िस्िया 2HI → H2 + I2 के स्िए वेग स्नयम व्यांजक स्िस्खए, यस्द यह अस्िस्िया र्नू्य 

कोस्ट की ह ै।  1 

(ख) अस्िस्िया वेग पर िाप का क्या प्रिाव होिा ह ै? इसके स्िए गस्णिीय व्यांजक स्िस्खए ।  1 

20. एर्थीन की अम्ि उत्प्प्रेररि जियोजन की स्ियास्वस्ि समझाइए ।  2 

21. (क) ऐसीस्ट ि क्िोराइड से ऐसीटैस्ल्डहाइड का स्वरचन कैसे स्कया जा सकिा ह ै?  1 

(ख) प्रोपेनोन की अपेक्षा प्रोपनेैि नास्िकरागी योगज अस्िस्ियाओां के प्रस्ि अस्िक 

अस्ि स्ियार्ीि ह ै। कारण दीस्जए ।  1 
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SECTION B 

17. (a) Calculate the elevation of boiling point of a solution when 3 g of 

CaCl2 (Molar mass = 111 g mol–1) was dissolved in 260 g of water, 

assuming that CaCl2 undergoes complete dissociation. (Kb for 

water = 0·52 K kg mol–1) 2 

  OR 

(b) Liquids ‘X’ and ‘Y’ form an ideal solution. The vapour pressure of 

pure ‘X’ and pure ‘Y’ are 120 mm Hg and 160 mm Hg respectively. 

Calculate the vapour pressure of the solution containing equal 

moles of ‘X’ and ‘Y’. 2 

  

18. Concentration of KCl 

solution in mol/L 

Conductivity at 

298·15 K in S cm–1  

Molar Conductivity at 

298·15 K in S cm2 mol–1 

 1·000 0·1113 111·3 

 
0·100 0·0129 129·0 

 
0·010 0·00141 141·0 

 Based on the data given above, give plausible reason for the variation of 

conductivity and molar conductivity with concentration.  2 

19. (a) Write the rate law expression for the reaction 2HI → H2 + I2, if the 

order of the reaction is zero.  1 

(b) What is the effect of temperature on the rate of reaction ? Write a 

mathematical expression for the same.  1 

20. Explain the mechanism of acid catalysed hydration of ethene. 2 

21. (a) How can acetaldehyde be prepared from acetyl chloride ? 1 

(b) Propanal is more reactive than propanone towards nucleophilic 

addition reaction. Give reason. 1 
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खण्ड ग 

 

22. (क) श् विेा ने दो िवों A और B के प्रत्प्येक के 10 mL को परतपर स्मिाया । स्मिाने पर स्वियन 

का आयिन 20·2 mL पाया गया । 

(i) िवों को स्मिाने पर आयिन में पररविान क्यों हुआ ?  1 

(ii) स्मिाने पर िाप बढ़ेगा या घटेगा ? 1 

(iii) इस प्रकार के स्वियन का एक उदाहरण दीस्जए ।  1 

 अथवा 

(ख) (i) पहाडी इिाकों में बफा  से ढकी सडकों को साफ करने में नमक स्छडकने से स्कस िरह 

मदद स्मििी ह ै? 1 

(ii) क्या होिा ह ैजब िाि रुस्िर कोस्र्काओां को 0·5% (िव्यमान/आयिन) सोस्डयम 

क्िोराइड स्वियन में रखा जािा ह ै? अपने उत्तर का औस्चत्प्य दीस्जए ।  1 

(iii) प्रस्ििोम परासरण का एक अनपु्रयोग स्िस्खए ।  1 

 

23. अस्िस्िया A + B → उत्प्पाद  के स्िए, अस्िकारकों की स्वस्िन्न प्रारांस्िक साांििाओ ां के स्िए 

स्नम्नस्िस्खि प्रारांस्िक वेग प्राप्त हुए :  

क्रमधंक [A]/mol L–1 [B]/mol L–1 प्रधिंनभक रे्ग/mol L–1 s–1 

1 0·1 0·1 0·05 

2 0·2 0·1 0·10 

3 0·1 0·2 0·05 

 A और B के सापेक्ष अस्िस्िया की कोस्ट और अस्िस्िया की समग्र कोस्ट ज्ञाि कीस्जए । 3 
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SECTION C 

 

22. (a) Shweta mixed two liquids A and B of 10 mL each. After mixing, the 

volume of the solution was found to be 20·2 mL. 

(i) Why was there a volume change after mixing the liquids ?  1 

(ii) Will there be an increase or decrease of temperature after 

mixing ?  1 

(iii) Give one example for this type of solution. 1 

  OR   

(b) (i) How does sprinkling of salt help in clearing the snow covered 

roads in hilly areas ? 1 

(ii) What happens when red blood cells are kept in  

0·5% (mass/vol) NaCl solution ? Justify your answer.  1 

(iii) Write an application of reverse osmosis.  1 

 

23. For the reaction A + B → Products, the following initial rates were 

obtained at various initial concentrations of reactants :  

Sl. No. [A]/mol L–1 [B]/mol L–1 Initial rate/mol L–1 s–1 

1 0·1 0·1 0·05 

2 0·2 0·1 0·10 

3 0·1 0·2 0·05 

 Determine the order of the reaction with respect to A and B and overall 

order of the reaction.  3 
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24. (क) स्ितटि क्षेत्र स्वपाटन ऊजाा स ेक्या अस्िप्राय ह ै? d4 आयन के स्िए, स्वन्यास स्िस्खए यस्द 

(i) o < P, िर्था  (ii) o > P ह ै।   

(ख) व्याख्या कीस्जए क्यों चिषु्फिकीय उपसहसांयोजन सत्ताओां में, स्नम्न प्रचिण स्वन्यास स्वरिे 

ही दखेा जािा ह ै।  3 

25. स्नम्नस्िस्खि के स्िए कारण दीस्जए :  

(क) मेस्र्थि क्िोराइड की अपेक्षा क्िोरोबेऩ्ीन में C – Cl आबन्ि िांबाई छोटी होिी ह ै।  1 

(ख) ग्रीन्यार अस्िकमाकों का स्वरचन स्नजािीय अवतर्थाओां में करना चास्हए ।  1 

(ग) ध्रवुण घूणाक ऐस्ल्कि हिैाइडों के स्िए, SN1 अस्िस्ियाएाँ रेस्समीकरण के सार्थ सम्पन्न  

होिी हैं ।  1 

26. (क) स्नम्नस्िस्खि यौस्गकों को उनकी अम्िीय सामर्थया के बढ़िे हुए िम में व्यवस्तर्थि कीस्जए :  1 

 3,5-डाइनाइट्रोफीनॉि,  4-मेस्र्थिफीनॉि,  फीनॉि,  2,4,6-ट्राइनाइट्रोफीनॉि  

(ख) क्या होिा ह ैजब : (समीकरण स्िस्खए)   2 

(i) फीनॉि को यर्दरज के सार्थ आसिु स्कया जािा ह ै?  

(ii) ऐस्नसोि को HBr के सार्थ अस्िस्िस्यि स्कया जािा ह ै? 

27. C8H8O आस्ववक सतू्र का कोई काबास्नक यौस्गक ‘A’ 2,4-DNP परीक्षण दिेा ह ै । यह टॉिेन 

परीक्षण नहीं दिेा ह,ै परन्ि ुNaOH और I2 के सार्थ पीिा अवके्षप ‘B’ दिेा ह ै। प्रबि ऑक्सीकरण 

पर, यह C7H6O2 सतू्र वािा काबोस्क्सस्िक अम्ि ‘C’ दिेा ह ै। ‘A’, ‘B’, ‘C’ की पहचान कीस्जए 

और सस्म् म स्िि अस्िस्ियाएाँ स्िस्खए । 3 

28. (क) -ऐमीनो अम्िों से प्रोटीन बनने के स्िए उत्तरदायी बांि का नाम स्िस्खए । 1 

(ख) DNA और RNA के बीच कोई दो अांिर स्िस्खए । 2 
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24. (a) What is meant by crystal field splitting energy ? For a d4 ion, write 

the configuration if (i) o < P, and (ii) o > P.  

(b) Explain why in tetrahedral coordination entities, low spin 

configurations are rarely observed.  3 

25. Account for the following :  

(a) The C – Cl bond length in chlorobenzene is shorter than that in 

methyl chloride.  1 

(b) Grignard reagents should be prepared under anhydrous conditions. 1 

(c) In case of optically active alkyl halides, SN1 reactions are 

accompanied by racemisation.  1 

26. (a) Arrange the following compounds in the increasing order of their 

acidic strength :  1 

 3,5-dinitrophenol, 4-methylphenol, phenol, 2,4,6-trinitrophenol   

(b) What happens when : (write equations)  2 

(i) Phenol is distilled with Zn dust ?  

(ii) Anisole is treated with HBr ? 

27. An organic compound ‘A’ (molecular formula C8H8O) gives 2,4-DNP test. 

It does not give Tollen’s test, but gives a yellow precipitate ‘B’ with NaOH 

and I2. On drastic oxidation, it gives a carboxylic acid ‘C’ with formula 

C7H6O2. Identify ‘A’, ‘B’, ‘C’ and write the reactions involved.  3 

28. (a) Name the type of linkage responsible for the formation of proteins 

from -amino acids.  1 

(b) Write any two differences between DNA and RNA. 2 
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खण्ड घ 

निम्िनिनित प्रश् ि केस-आर्धरित प्रश् ि हैं । केस को ध्यधिपरू्ाक पऩिए औि नर्दए गए प्रश् िों के उत्ति र्दीनिए ।  

29. काबोहाइडे्रट पॉस्िहाइड्रॉक्सी ऐस्ल्डहाइड अर्थवा कीटोन हैं जो बहुि अस्िक सांरचनात्प्मक स्वस्वििाओां 

को स्नरूस्पि करिे हैं स्जसका कारण ह ै स्दक्-तर्थान में परमाणओु ां की स्वस्िन्न व्यवतर्था, फितवरूप 

उनके सैकडों स्त्रस्वम समावयवी बन जािे हैं । यद्यस्प अस्िकिर स्त्रस्वम समावयवों के रासायस्नक 

गणुिमा ज्यादा स्िन्न नहीं होिे, िेस्कन उनकी उपापचय की दर और जैस्वक प्रणास्ियों में उपयोग 

महत्त्वपणूा रूप से स्िन्न होिा ह ै िर्था वह काबोहाइडे्रटों के समग्र उपापचय को प्रिास्वि करिा ह ै । 

सांरचनात्प्मक रूपिेद, जो स्त्रस्वम आकार् में परमाणओु ां की स्िन्न व्यवतर्था के कारण उत्प्पन्न होिे हैं, 

स्त्रस्वम समावयव कहिािे हैं । स्त्रस्वम समावयवों की सांख्या का अनमुान सैिाांस्िक रूप से 2n सतू्र का 

उपयोग करके िगाया जा सकिा ह ैजहााँ ‘n’ अण ुमें उपस्तर्थि स्त्रस्वम केन्ि अर्थवा असमस्मि (स्करेि) 

काबान परमाणओु ां की सांख्या ह ै । इन स्त्रस्वम समावयवों में से कुछ सांरचनाएाँ, जो एक-दसूरे की दपाण 

प्रस्िस्बांब होिी हैं, प्रस्िस्बांब रूप (एनसै्न् टओमर) कहिािी हैं । 

स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए :  

(क) ग्िकूोस में ऐस्ल्डहाइड समहू और ॠज ु श्ृांखिा की उपस्तर्थस्ि दर्ााने के स्िए रासायस्नक 

अस्िस्ियाएाँ दीस्जए ।  2 

(ख) (i) ऐनोमर को पररिास्षि कीस्जए ।  1 

 अथवा 

(ख) (ii) -D-ग्िकूोपाइरैनोस की सांरचना बनाइए । 1 

(ग) सिूोस को अपविृ (प्रिीप) र्का रा कहा जािा ह ै। समझाइए ।  1 

30. 1893 में वनार का उपसहसांयोजन स्सिाांि, उपसहसांयोजन सांकुिों में आबांिों की व्याख्या करने के स्िए 

पहिा प्रयास र्था । यह तमरणीय ह ै स्क 1897 में जे.जे. र्थॉमसन द्वारा इिेक्ट्रॉन की खोज िर्था 

सांयोजकिा के इिेक्ट्रॉस्नक स्सिाांि से पहिे ही यह स्सिाांि प्रस्िपास्दि स्कया गया र्था । वनार के पास 

कोई िी आिसु्नक उपकरणी िकनीक नहीं र्थी और उसके सिी अध्ययन सामान्य प्रायोस्गक िकनीकों 

द्वारा स्कए गए र्थ े । वनार सांकुिों में आबांिन की प्रकृस्ि की व्याख्या करने में समर्था हआु और उसने 

स्नष्कषा स्नकािा स्क सांकुिों में िाि ुदो स्िन्न प्रकार की सांयोजकिाएाँ प्रदस्र्ाि करिी हैं : प्रार्थस्मक और 

स्द्विीयक । प्रार्थस्मक सांयोजकिाएाँ सामान्य रूप से आयननीय होिी हैं जबस्क स्द्विीयक सांयोजकिाएाँ 

अन-आयननीय होिी हैं ।  



   

56/5/1  # 17 # P.T.O. 

SECTION D 

The following questions are case-based questions. Read the case carefully and 

answer the questions that follow. 

29. Carbohydrates are polyhydroxy aldehydes or ketones that represent 

enormous structural diversity in terms of the arrangement of atoms in 

space, resulting in hundreds of stereoisomers. Although the chemical 

properties of most stereoisomers may not be very different, their 

metabolic rate and utilization in biological systems is significantly 

different and known to influence the overall carbohydrate metabolism. 

Structural variants, which arise due to a different arrangement of atoms 

in three-dimensional space are known as stereoisomers. The number of 

stereoisomers can be theoretically estimated by using the formula 2n, 

where ‘n’ is the number of stereocenters or asymmetric (chiral) carbon 

atoms in a molecule. Out of these stereoisomers, there are some 

structures, which are mirror images of each other, and they are referred 

to as enantiomers.  

 Answer the following questions :      

 (a) Give chemical reactions to show the presence of an aldehydic group 

and straight chain in glucose.  2 

 (b) (i) Define anomers. 1 

   OR 

 (b) (ii) Draw the structure of -D-Glucopyranose.  1 

 (c) Sucrose is known as invert sugar. Explain.  1 

30. Werner’s coordination theory in 1893 was the first attempt to explain the 

bonding in coordination complexes. It must be remembered that this 

theory was put forward before the electron had been discovered by  

J.J. Thomson in 1897, and before the electronic theory of valency. Werner 

did not have any of the modern instrumental techniques and all his 

studies were made using simple experimental techniques. Werner was 

able to explain the nature of bonding in complexes and he concluded that 

in complexes, the metal shows two different sorts of valency : primary 

and secondary. Primary valences are normally ionisable whereas 

secondary valences are non ionisable.  
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स्नम्नस्िस्खि प्रश् नों के उत्तर दीस्जए : 

(क) एक मोि CrCl3 . 4H2O, AgNO3 स्वियन के आस्िक्य के सार्थ अस्िस्िस्यि स्कए जाने 

पर एक मोि AgCl अवके्षस्पि करिा ह ै। (i) सांकुि का सांरचनात्प्मक सतू्र और (ii) Cr की 

स्द्विीयक सांयोजकिा स्िस्खए । 2 

(ख) स्द्व-िवण और सांकुि में क्या अांिर ह ै?  1 

(ग) (i) स्नम्नस्िस्खि सांकुिों को उनके स्वियन में चािकिा के बढ़िे हुए िम में व्यवस्तर्थि 

कीस्जए :  1 

    [Cr(NH3)3Cl3],   [Cr(NH3)6]Cl3,   [Cr(NH3)5Cl]Cl2   

 अथवा 

(ग) (ii) उपसहसांयोजन यौस्गकों की प्रार्थस्मक और स्द्विीयक सांयोजकिाओां के बीच दो अांिर  

स्िस्खए । 1 

खण्ड ङ 

31. (क) (i) स्कसी गैल्वेनी सेि के स्िए, स्नम्नस्िस्खि अिा अस्िस्ियाएाँ दी गई हैं । स्नणाय िीस्जए 

स्क कौन-सी, अपचयन अस्िस्िया रहगेी और स्कसका प्रस्ििोमन होकर ऑक्सीकरण 

अस्िस्िया होगी । अपने उत्तर के स्िए कारण दीस्जए । 2 

   (I) Cr3+ + 3e– → Cr(s);  E = – 0·74 V 

   (II) Fe2+ + 2e– → Fe(s);  E = – 0·44 V 

(ii) उस सेि को स्नरूस्पि कीस्जए स्जसमें स्नम्नस्िस्खि अस्िस्िया होिी ह ै:  3 

 Mg(s) + 2Ag+ (0·001 M) → Mg2+ (0·100 M) + 2Ag(s)   

 यस्द 
o

E
gbo

 = 3·17 V ह,ै िो E
gbo

 का पररकिन कीस्जए । (log 10 = 1)    

 अथवा 

(ख) (i) कोिराउर् स्नयम बिाइए । इसके कोई दो अनपु्रयोग दीस्जए ।  2 

(ii) m
 NH4Cl, m

 NaOH और m
 NaCl िमर्: 129·8, 217·4 और 

108·9 S cm2 mol–1 हैं । 1  10–2 M, NH4OH स्वियन की मोिर 

चािकिा 9·33 S cm2 mol–1 ह ै । इस साांििा पर NH4OH स्वियन की 

स्वयोजन मात्रा () पररकस्िि कीस्जए । 3 
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 Answer the following questions :      

 (a) One mole of CrCl3 . 4H2O precipitates one mole of AgCl when 

treated with excess of AgNO3 solution. Write (i) the structural 

formula of the complex, and (ii) the secondary valency of Cr. 2 

 (b) What is the difference between a complex and a double salt ? 1 

 (c) (i) Arrange the following complexes in the increasing order of 

conductivity of their solution : 1 

   [Cr(NH3)3Cl3],   [Cr(NH3)6]Cl3,   [Cr(NH3)5Cl]Cl2   

   OR 

 (c) (ii) Write two differences between primary and secondary 

valences in coordination compounds.  1 

SECTION E 

31. (a) (i) For a galvanic cell, the following half reactions are given. 

Decide, which will remain as reduction reaction and which 

will be reversed to become an oxidation reaction. Give 

reason for your answer.   2 

   (I) Cr3+ + 3e– → Cr(s);  E = – 0·74 V 

   (II) Fe2+ + 2e– → Fe(s);  E = – 0·44 V 

(ii) Represent the cell in which the following reaction takes 

place : 3 

 Mg(s) + 2Ag+ (0·001 M) → Mg2+ (0·100 M) + 2Ag(s)   

 Calculate  Ecell if 

cellE  = 3·17 V. (log 10 = 1)  

                                           OR 

 (b) (i) State Kohlrausch’s law. Give any two applications of it.  2 

(ii) m
 NH4Cl, m

 NaOH and m
 NaCl are 129·8, 217·4,  

and 108·9 S cm2 mol–1 respectively. Molar conductivity  

of 1  10–2 M solution of NH4OH is 9·33 S cm2 mol–1. 

Calculate the degree of dissociation () of NH4OH solution 

at this concentration.  3 
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32. (क) (i) रसायन स्वज्ञान की प्रायोस्गक कक्षा में, स्र्क्षक ने अपने छात्रों को C2H7N आस्ववक 

सतू्र वािा कोई ऐमीन ‘X’ स्दया और छात्रों से कहा स्क इस ऐमीन के प्रकार को  

पहचास्नए । छात्रों में से एक छात्रा, नीिा ने प्रेस्क्षि स्कया स्क यह C6H5SO2Cl के 

सार्थ अस्िस्िया करके एक यौस्गक दिेा ह ैजो NaOH स्वियन में घिु जािा ह ै । 

क्या आप नीिा की इस यौस्गक ‘X’ को पहचानने में सहायिा कर सकिे हैं ?  1 

(ii) स्नम्नस्िस्खि को उनकी जिीय प्रावतर्था में pKb मान के बढ़िे हुए िम में व्यवस्तर्थि 

कीस्जए : 1 

  C6H5NH2,  (CH3)2NH,  NH3,  CH3NH2,  (CH3)3N   

(iii) ऐस्निीन नाइट्रोकरण द्वारा ऑर्थो और पैरा उत्प्पादों के सार्थ-सार्थ यर्थेष्ट मात्रा में मेटा 

उत्प्पाद िी दिेी ह ै। क्यों ? 1 

(iv) ऐस्निीन का रूपान्िरण कीस्जए :  2 

(I) p-ब्रोमोऐस्निीन में  

(II) फीनॉि में  

 अथवा 

(ख) (i) अरुण ने एस्र्थिऐमीन और CHCl3 के स्मश्ण को एर्थेनॉस्िक KOH के सार्थ गमा 

स्कया, स्जससे एक दगुान्ियकु्त गैस बनी । सस्म्मस्िि रासायस्नक समीकरण स्िस्खए ।   1 

(ii) स्नम्नस्िस्खि अस्िस्ियाओां में A और B को पहचास्नए : 2 

  

 

(iii) ऐस्निीन का स्नम्नस्िस्खि में रूपान्िरण कीस्जए :  2 

(I) बेऩ्ीन  

(II) सल्फैस्नस्िक अम्ि  
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32. (a) (i) In a chemistry practical class, the teacher gave his students 

an amine ‘X’ having molecular formula C2H7N, and asked 

the students to identify the type of amine. One of the 

students, Neeta, observed that it reacts with C6H5SO2Cl, to 

give a compound which dissolves in NaOH solution. Can you 

help Neeta to identify the compound ‘X’ ?   1 

(ii) Arrange the following in the increasing order of their pKb 

value in aqueous phase :    1 

  C6H5NH2,  (CH3)2NH,  NH3,  CH3NH2,  (CH3)3N   

(iii) Aniline on nitration gives considerable amount of meta 

product along with ortho and para products. Why ?  1 

(iv) Convert aniline to : 2 

   (I) p-bromoaniline  

   (II) phenol  

                                           OR 

 (b) (i) Arun heated a mixture of ethylamine and CHCl3 with 

ethanolic KOH, which forms a foul smelling gas. Write the 

chemical equation involved.   1 

(ii) Identify A and B in the following reactions : 2 

  

(iii) Convert aniline to : 2 

   (I) benzene  

   (II) sulphanilic acid  
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33. (क) (i) जब पायरोिसुाइट अयतक को वाय ुकी उपस्तर्थस्ि में KOH के सार्थ सांगस्िि स्कया 

जािा ह ैिो गाढ़े हरे रांग का उत्प्पाद ‘A’ प्राप्त होिा ह ैजो अम्िीय माध्यम में बैंगनी रांग 

के यौस्गक ‘B’ में पररवस्िाि हो जािा ह ै। 

(I) ‘A’ और ‘B’ के सतू्र स्िस्खए ।  

(II) यौस्गक ‘B’ की अम्िीय माध्यम में Fe2+ के सार्थ अस्िस्िया का आयस्नक 

समीकरण स्िस्खए ।  2 

(ii) कारण दीस्जए :  3 

(I) जिीय स्वियन में Ce4+ एक अच्छा ऑक्सीकारक ह ै।  

(II) िैंर्थेनॉयड आकुां चन की िुिना में एक ित्त् व से दसूरे ित्त् व के बीच ऐस्क्टनॉयड 

आकुां चन अस्िक होिा ह ै।  

(III) +


2Zn /Zn
E  का मान अपेक्षा से अस्िक ॠणात्प्मक ह,ै जबस्क 

+


2Cu /Cu
E  िनात्प्मक ह ै।  

 अथवा 

(ख) (i) आविी गणुिमों का अध्ययन करिे समय, आरिी ने Hf के परमाण ुआकार में एक 

असामान्य व्यवहार दखेा । उसने पाया स्क यद्यस्प Hf उसी समहू में Zr के ठीक नीचे 

ह,ै स्फर िी उनके परमाण ुआकार िगिग समान हैं । 

(I) ऊपर स्दए गए व्यवहार के स्िए कौन-सी पररघटना उत्तरदायी ह ै ? उसकी 

पररिाषा स्िस्खए ।  

(II) उपयुाक्त पररघटना के स्कसी अन्य पररणाम का उल्िेख कीस्जए ।  2 

(ii) स्नम्नस्िस्खि के स्िए कारण दीस्जए :  3 

(I) सांिमण िािएुाँ उत्प्प्रेरकीय गणुिमा दर्ाािी हैं ।  

(II) सांिमण िािओु ां की कणन एन्र्थैल्पी उच्च होिी ह ै।  

(III) Sc एक सांिमण ित्त् व ह,ै जबस्क Zn नहीं ।  
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33. (a) (i) When pyrolusite ore is fused with KOH, in presence of air, a 

dark green coloured product ‘A’ is obtained which changes to 

purple coloured compound ‘B’ in acidic medium. 

   (I) Write the formulae of ‘A’ and ‘B’. 

   (II) Write the ionic equation for the reaction when 

compound ‘B’ reacts with Fe2+ in acidic medium.  2 

(ii) Give reasons : 3 

   (I) Ce4+ in aqueous solution is a good oxidising agent.  

   (II) The actinoid contraction is greater from element to 

element than lanthanoid contraction.  

   (III) +


2Zn /Zn
E  value is more negative than expected, 

whereas +


2Cu /Cu
E  is positive.  

                                           OR 

 (b) (i) While studying the periodic properties, Arti came across an 

abnormal behaviour in the atomic size of Hf. She found that, 

even though Hf is placed below Zr in the same group, both 

have almost similar atomic sizes. 

   (I) Which phenomenon is responsible for the above 

behaviour ? Define it.  

   (II) Mention any other consequence of the above 

phenomenon.  2 

(ii) Give reasons for the following :  3 

   (I) Transition metals exhibit catalytic properties.  

   (II) Transition metals have high enthalpy of atomisation.  

   (III) Sc is a transition element, while Zn is not.  
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Examiners are once again reminded that they must ensure that evaluation is carried out 
strictly as per value points for each answer as given in the Marking Scheme. 

 
MARKING SCHEME 2024-25 

CHEMISTRY(Theory)-043 
QP Code 56/5/1         MM: 70 

Q.No Value Points Mark 

 SECTION A  

1 (D) 1 

2 (D) 1 

3 (C) 1 

4 (B) 1 

5 (D) 1 

6 (B) 1 

7 (C) 1 

8 (B) 1 

9 (C) 1 

10 (A) 1 

11 (B) 1 

12 (D) 1 

13 (A) 1 

14 (D) 1 

15 (B) 1 

16 (A) 1 

 SECTI(ON B  

17 Tb = iKb m 

 
i=3   

 

 

 Tb =3 0·52 3x 1000  

                 111 x 260 
=0.162K 

 
 
½  
 
½  
 
½  
 
½  

 OR  

17 Given nX = nY 
χX = χy=0.5 

T
P   = pX 𝑥 

0
𝑥+pY 𝑥 

0
𝑌 /  

        = 120 x 0.5 +160 x 0.5 
        =60 +80 
        =140mm Hg 

 
 
½  
 
1 
½  

18 Conductivity decreases with decrease in concentration  
Due to decrease in number of current carrying ions per unit volume. 
Molar conductivity increases with decrease in concentration  
Due to decrease in inter-ionic attraction or increase in dissociation or increase in number of 
ions. 

½  
½  
½  
½  

19 (a) Rate=k[HI]0 =k 
(b) Increases with increase in temperature  
k =A e-Ea/RT   /   lnk = lnA - Ea/RT 

1 
½  
½  
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20 

 

 
 
 
 

½ 
 
 

½ 
 
 

1 

21 (a)Acetyl chloride is hydrogenated over catalyst, palladium-barium sulphate to prepare 
acetaldehyde /  

  
(b)Due to less steric hinderance and greater electrophilicity of carbonyl carbon in propanal than 
propanone. / Due to more steric hinderance and less electrophilicity of carbonyl carbon in 
propanone than propanal  

1 
 
 
 

1  

 SECTION C  

22 (a) 
(i) The solution is non ideal, shows positive deviation from Raoult’s law / A-B interactions are 
weaker than A-A and B-B interactions  
(ii)Decrease in temperature 
(iii) Ethanol and acetone                                                         (or any other suitable example) 

 
1 
 

1 
1 

 OR  

22 (b) 
(i)Salt lowers the freezing point of water and prevents formation of ice and hence its easy to 
clean.  
(ii)-Red blood cells swell up 
-As the solution is hypotonic, water will flow into the cell/ As the solution is hypotonic, 
endosmosis occurs. 
(iii) Desalination of sea water 

 
1 
 

½  
½  
 

1 

23 Rate=k[A]x[B]y 

Eq.1 Rate1=k(0.1)x(0.1)y=5.0 x 10-2 
Eq.2 Rate2=k(0.2)x(0.1)y=1.0 x 10-1 
Eq.3 Rate3=k(0.1)x(0.2)y=5.0 x 10-2  
0.1

0.5
  = 

𝑘 × 0.2𝑥 × 0.1𝑦

𝑘 × 0.1𝑥 × 0.1𝑦     

Hence x=1  
0.05

0.05
  = 

𝑘 × 0.1𝑥 × 0.2𝑦

𝑘 × 0.1𝑥 × 0.1𝑦 

Hence y= 0  
Rate=k[A]1[B]0 

Overall order=1  

 
 
 
 
 
1 
 
 
1 
 
1 

24 (a)The difference of energy between the two sets of d-orbitals t2g and eg due to the presence 

of ligands in a definite geometry. / The energy required to split the degenerate d-orbitals 
into two sets of orbitals.  
(i) t3

2g e1
g 

(ii) t4
2g e0

g  
(b)Orbital splitting energy is not sufficiently large for causing pairing of electrons 

 
1 
 

½  
½  
1 
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25 (a)Due to resonance in chlorobenzene leading to partial double bond character of C-Cl bond but 
there is no resonance in CH3Cl / sp2 hybridised carbon atom having shorter bond length 
between C-Cl in chlorobenzene than sp3 hybridized carbon in methyl chloride. 
(b)Grignard reagent react with water to form corresponding hydrocarbon 
(c)Due to the formation of planar carbocation, nucleophile may attack from either side of 
carbocation. 

1 
 
 

1 
1 

26 (a) 4-methylphenol < Phenol < 3,5-dinitrophenol < 2,4,6-trinitrophenol 
(b) 
(i) 

 
(ii) 

 

1 
 
 
 

1 
 
 
 
 
 

1 

27 A=Acetophenone/C6H5COCH3  
B= Iodoform/CHI3, 
C=Benzoic acid/C6H5COOH 

 

½ 
½ 
½ 
 
 

½ x 3 
 
 

28 (a) Peptide linkage 
(b) 

DNA RNA 
Double stranded Single stranded 
Sugar is deoxyribose Sugar is ribose 
Thymine base is present Uracil base is present 
It replicates  It does not replicate 

                                                                                 (or any two suitable differences) 
 

1 
 
1+1 

 SECTION D  

29 (a)  
 
 

                                                                                                                          
                                                                                                                                                                                  
(b)(i)Cyclic structures of glucose differ only in configuration of -OH group at C1. / Stereoisomers 
which differ in configuration of  -OH group at C1 or C2 

OR 

 
 

1 
 
 

1 
 
 

1 
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(b)(ii) 
 
 
 
 
 
 
(c)Hydrolysis of dextrorotatory sucrose brings a change in the sign of rotation or inverts the 
optical rotation from dextro to laevo. The product of hydrolysis is invert sugar. 

 
1 
 
 
 
 
 

1 

30 (a) 
(i) [Cr(H2O)4Cl2]Cl 
(ii) 6 

(b) Double salts dissociate into simple ions while complex compounds do not dissociate 
completely into ions when dissolved in water.  (Or any other suitable difference) 
(c) 
(i) [Cr(NH3)3Cl3]  < [Cr(NH3)5Cl]Cl2 < [Cr(NH3)6]Cl3 

OR 
(c)(ii) 
 

                            Primary Valency                            Secondary Valency 

1.Ionisable 1. Non-ionisable 

2.Satisfied by negative ions  2. Satisfied by negative ions or neutral 
molecules 

                                                                                       (or any other two suitable differences) 

 
1 
1 
 

1 
 
 

1 
 
 
 
 

½+½ 
 
 

 SECTION E  

31 (a) 
(i) (II) will remain as reduction reaction / (II)  
   (I) will be reversed to become an oxidation reaction  
    Due to low reduction potential of Cr 
(ii) Cell representation Mg(s)/Mg2+ (aq,0.100M)‖Ag+(aq,0.001M)/Ag(s) 
  
n=2 

Ecell = E°cell −
2.303R⊤

nF
log

[Mg2+]

[Ag+]2   

          = 3.17 −
0.059

2
log

0.100

(0.001)2  

         = 3.17 −
0.059

2
log 105 

         = 3.17 − 0.0295 × 5  
         = 3.17 − 0.1475  
         = 3.0225 V or  3.02 V 

 
½  
½  
1 
1 
 
 
 
½ 
 
1 
 
 
½  

 OR  

31 (b)(i)Limiting molar conductivity of an electrolyte can be represented as the sum of the 
individual contributions of the anion and cation of the electrolyte. 
To determine -1. Limiting molar conductivity of an electrolyte. 
                          2.Dissociation constant of a weak electrolyte 
                                                                                 (or any other two suitable applications) 
 
(ii)Λ°mNH4OH =  Λ°mNH4Cl +Λ°mNaOH − Λ°mNaCl 
                            = 129.8 + 217.4 − 108.9  
                           =238.3 Scm2mol-1  

      𝛼 =
Λ𝑚𝑐

Λ°𝑚
 

1 
 

½ 
½ 
 
 

½ 
 
1 
½ 
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          =
9.33

238.3
  

          =0.039  /3.9% 

 
1 

32 (a)(i) Amine ‘X’ react with C6H5SO2Cl to give a  compound ,soluble in NaOH  so amine ‘X’ is 
primary amine, CH3CH2NH2/Ethanamine/Ethyl amine 
 
(ii) (CH3)2NH <CH3NH2 < (CH3)3N <  NH3 <C6H5NH2 
(iii) In the strongly acidic medium, aniline is protonated to anilinium ion, which is meta-
directing. 
 
(iv)(I) 

 
(II)  

 

½ +½ 
 
 

1 
1 
 
 
 
 

1 
 
 
 

1 

 OR  

32  (b)(i) 

 
(ii)A =  
 
 
    B  =                   
 
 
(iii)                                                         

(I)  
 
(II) 

                                                                                                                                                      

1 
 

1 
 

1 
 
 
 

1 
 
 
 
 

   1 

33 (a)(i)  
(I) A - K2MnO4         B- KMnO4 

(II)  
(ii) (I) Gets reduced to +3 common oxidation state.  
     (II) Due to poorer shielding offered by 5f electrons than 4f.  
     (III) Due to completely filled d- subshell (d10) in zinc whereas in Cu, due to high enthalpy of 
atomization and low enthalpy of hydration. 

 
½ +½ 

1 
1 
1 
1 

 OR  

33 (b)(i)  
(I) Lanthanoid contraction.  
The steady decrease in atomic and ionic radii in lanthanoid series.  
 
(II) Decrease in basic character from left to right in lanthanoid series.  

                                                                                     (any other correct consequence) 
 
 

 
½ 
½ 
 

1 
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(ii)  

(I)They have the ability to exhibit variable oxidation states/  tendency to form complex 
compounds/ large surface area. 
(II) Due to involvement of (n-1) d and ns electrons which results in strong metallic bond and 
strong interatomic bonding. 
(III) Sc has incompletely filled d orbital (3d1) in its ground state whereas Zn has completely filled 
d orbital (3d10) in ground state as well as in its oxidized state. 

1 
 

1 
 

1 
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